QU HAY €D €L REGALO? (B)

;Qué numero hay en cada regalo?
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i MatesIGbres.Com les desea una Felix Navidod!




A UEé HAY €D €L REGALO? (B) RESPUESTAS

;Qué numero hay en cada regalo?

8 x 10 =| 80 6 x 10 =| 60 6 x 4 = 24
10 x 9 =/ 90 9 x 4 = 36 9 x 2 = 18
9 x 2 = 18 2 x 10 =| 20 10 x 7 =70
8 x 5 = 40 10 x 4 = 40 1 x 6 = 6
10 x 9 =] 90 2 x 1 = 2 1 x 8 = 8
8 x 2 |= 16 8 x 8 |= 64 8 x 2 |= 16
7 x 4 = 28 6 x 6 |= 36 2 x 4 = 8
1 x| 9 = 9 1 x| 2 = 2 5 x 10 = 50
9 x 8 |= 72 4 x 10 |= 40 9 x 5 |= 45
2 x| 3 = 6 8 x 10 |= 80 9 x 8 = 72
8 |x 6 = 48 3 x 7 = 21 2 |x 1 = 2
2 x 4 = 8 8 |x 7 = 56 1 x 9 = 9
10 |x 10 = 100 3 x 3 =9 4 x 2 = 8
9 |x 2 = 18 10 x 10 = 100 4 |x 9 = 36
9 |x 2 = 18 3 x 10 = 30 3 x 2 = 6
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